109t3sol

@ ()\\7%|>:(9_\'2’) (11.‘?7,)“ (o"?)

Solutions Page 1



35 = A%

- ’L{
J
(ay) = (%,-4)
(3) (\j)

@ Ba\ck()mc(«s P se S AW})AELQ

| \

Manupadw—t (2 S (3 2.
“Test 3 T o
P |11 R

o) Da\\7 Ceverme = 1A+ }fj
b) é)(JrSj < 13>
WYy < 1ok
ij? =

Solutions Page 2



A Verke | 1Txe

('O)O) O
(o)zs.g) |810.S
(’L’)’Io) (3

(2,24) 11342
MAXi/Y\\)/V\ Olﬂ\‘\(\/{ feenue —



Q\/L{«L \ O - ¢ /,’2’
o | ( ¥
o O % Yo
Q5 +(>ﬂ1_
\ o ~ L —-,1
o 8 ]
@ o o OIS
g
>( j =
€\+1{Z$ | o O s
@1’(83 ° e :
o o Y

Solutions Page 4



